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Choose the correct answer from those given: sAall) cllaY) o (s dAasaual) Aday) 4

the sum of the coefficient . s . SR
@ of terms i£ the exlg;zsion dstla 2 gl u%““ &J':y .
(1+x )5 P S (t))
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d | £B -0 (e-¥Y)£| -
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® In the opposite figure: TN el ) "=
ABCDABCD is a cuboid R I ko
A4,0,0),C(0,9,0),D (0,0, 7) [ e (Verer)d ot
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If the two straight lines: Y. V4 -t “En
@ = ;)a = *U“ Clasiioeal) oS \3\ .
x+1 y—-2 z-3 f—&l—ﬂ \ \ v
2 3 4’3 4 Kk e FeE e L
R ¢ Y ¢
are perpendicular ,thenk = ... e = a0 12 (lalada
a |4 €
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* _a HE
@ The measure of the angle included ey i) s 6y guanall 3\.“\33\ il -
between the two planes E\/ T i\/_'_ "
x4+ V2y+z=5, x—\2y+z=1 V=¢ +oe
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a |0° °ov |
b |45° °¢0 | «
c |90° °q. | _a
d |135° °\Ye | 2
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@ The rank of the matrix 00 -1 =1
-1 0 O .
A = (—1 -1 0) equal ...... | T -9 1 1 Byhao i3
1 1 1 11 1
a |2 v o
b |4 ¢ o
c |3 Y2
d |5 o | .

@ |If(a-2,b+3, c-4) lies in xz- (E—6c¥+ac¥-]) dbbil sy | -V |"as
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The eqt.tation of the spl.lere w.hose dshs () ¢ ¥ocf) WS s a5 Sl Aldias -A | Sas
centre is (3, -2, 1) and its radius o = b b i
length equals =5 cmis ............ | 7 b

a |[(x+3)°+y-2+G@+1)°=5 o ="(V+g) + (Y-ua) + (Y#w)| |
b [(x+3’+@-2+@+1)’ =25 | Ye='(V+g)+ (Y-ua)+ (T+e)| <
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If 2+50+2 0°)"=2+20w+5 v’)" (oot o¥+Y)=Co+oo+Y) Jsid) | =)+ S
Them n may = ....ccoeeeeeee | seecees gl (S o
a |0 o
b |1 V| <@
c |2 Y|
d |-1 Vo
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If the two equations 2x +y =1 " cwe i | =YY [®E
@ 4fx +2y= IZ have an inﬁ.:)zite nu;nber of =ué"':u*i.u: Lj?:rw* t;l:':i\ :f ) L
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@ Prove that : _\y [m==
x a b o el
a x b| =(x-a)(x-b)(x+atbh), ‘ ‘ o -
a b x (eHH+ ) (-04) (o) =| @ g \‘
then use the result to find the ) o \&
solution set of - Jad) Ao gana ¥ gl aaiia) o
2sin@ 1 -1 V- \ Oy
1 2sin6 -1 V- [ [EN \
1 -1  2sin@ O\>¥ \- \




belong to the plane of the triangle ‘f*’;“‘d\ \gr;:‘i (" ,‘;:;')Od ‘fm u‘u::
ABC where A(1,1,1) , B(4,2,3) and o =
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C(2,-1,-3)?

Prove that the point n(-1,1,1) RYBLE

10



x-3°+y'+(z-37=16, QLS ils 1)
¢ AVT=T(Fg) + Toat (T-)
x+1)’+@-4'+@-k’=25 Yo =T(pg)+ ((-0a) + (Y +eH)

o dad dag) ¢ Glinlaia
are tangential, find the value of k?
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Find the equation of the plane . i -\
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passes through the point (5, 4, 1)
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@ Withou.t expanding the o) il 2aaals b oy g -\V | %ae
determinant, prove that
1 x x? :‘-““ o :
1y Y2 |=x0)0-5Gx) e &
1z z° (P~ ) (L) (P~
Then find the numerical value of
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the determinant if x-y =5 and
8= =Ty
yz=7
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Prove that »° one of the roots of stealf gda a3/ @ o) i | =V A

the equation x4 +5x" +5=0 =o' weo+ Lyt + ! Lt
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If 12| = |zl = 1, and the org €18 ) daug V=Yg = [ig [ O8N -10
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Prove that the two straight lines paiional] ) e .
x-1  —-y+2  z+4 t4p Y4 ga- )
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